Business Assignment 2	
ACC 122			          Name__________________________________

In this assignment we will be completing an Office Margin Statement similar to Exhibit 11-11 on page 392.  I used the information from the segment reporting footnote for 1-800-FLOWERS.COM, Inc.  I have include the source of the information, but I needed to adjust some of the numbers to make it less complex.  

1.  Complete the following schedule.  You will need to compute traceable variable costs for each segment and office margin for each segment.  Remember that common expenses and operating income is not given by segment, as we see in Exhibit 11-11.
(14 points)
	                                         1-800-FLOWERS.COM, Inc.

	                                            Office Margin Statement

	                                         for the year ended July 2, 2017

	
	
	
	
	

	
	Consumer 
	  Bloom Net
	   Gourmet
	

	
	   Floral
	Wire Service
	Food & Gifts
	      Total

	Net Revenues
	 $437,132 
	 $       87,700 
	 $     670,677 
	 $ 1,195,509 

	Traceable variable costs
	 
	 
	 
	    1,033,954 

	Office contribution margin
	     51,860 
	          32,383 
	          77,312 
	        161,555 

	Traceable fixed costs
	     27,000 
	          14,000 
	          40,820 
	         81,820 

	Office margin
	
	
	
	          79,735 

	Common expenses
	
	
	
	          33,376 

	Operating income
	
	
	
	 $       46,359 

	
	
	
	
	



Using this information, compute the following showing your computations.  Add lines as needed.  Each question is worth 9 points.

2.  Contribution Margin ratio for each segment:
   
      A. Consumer Floral

      B.  Bloom Net Wire Service

      C.  Gourmet Food & Gifts


3.  Break-even point in sales dollars for each segment:
      
      A. Consumer Floral

      B.  Bloom Net Wire Service

      C.  Gourmet Food & Gifts


4.  Margin of safety in dollars for each segment.

      A. Consumer Floral

      B.  Bloom Net Wire Service

      C.  Gourmet Food & Gifts

5.  Margin of safety ratio for each segment

      A. Consumer Floral

      B.  Bloom Net Wire Service

      C.  Gourmet Food & Gifts


Sample high-low method problem
Davies Company's Utility Cost at various levels of activity are shown below:

Month           Units        Utility Cost
April              5,600      $7,900
May              8,000      $9,800
June             5,000      $7,400
July              7,100      $8,500
Requirement 1:  Given the above information, use the High-Low method to compute the variable and fixed portion of utility cost.  Show your computations and indicate the cost equation. (5 points) Hint:  Cost = .8x + 3,400

Requirement 2:  Using the equation from requirement 2, compute total cost estimate if 7,500 units are produced.  Show your computations. (5 points) Hint:  $9,400




.

Sample C-V-P Analysis problem
Davies shows the following information for the next year for its single product, ceramic pots.
           Price per unit:	$20
	Variable cost per unit:	$8
	Fixed costs per month:	$15,000                 

Requirement 1: Compute the break-even point in units and sale dollars.  Show your computations (6 points) Hint:  1,250 units
Requirement 2:  What amount of sales revenue would Davies need to realize next year in order to generate a net income of $18,000 after tax (assume a tax rate of 20%).  Show your computations (10 points) Hint:  $62,500
Requirement 3:  Using the sales revenue computed in #2, compute the margin of safety in sales dollars. (4 points) Hint:  $37,500
Sample Budget Problem

Davies shows the following information for the Sales Budget for next quarter:
Month            Units           Sales
January           1,000      $200,000
February          1,700      $340,000
March               2,000      $400,000

Requirement 1:  Assume Davies plans to begin January with 200 units and requires ending inventory to be equal to 20% of next month's sales.  Compute the required number of units to be produced in February.  Show your computations. Hint: 1,760

Requirement 2:  Assume each unit requires 2 hours of labor costing $30.00 per hour.  Compute the Direct Labor budget for February.  Show your computations. Hint:  $102,000.

Requirement 3:  Assume all sales are on credit.  Credit sales are collected at the rate of 60% in the month of sale and 40% in the month following the sale.  Accounts receivable at December, 31 is expected to be $40,000.  Compute the cash collections for February.  Hint: $284,000

.
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